Use the data sheet to calculate Delta H, Detta S and Delta G at 25 C for each of the following reactions.
In each case show that Delta G- Delta H-T Delta 5

Ni (5) + Cly gy--r-r--=-- NiCl g
CaCo; (s, calcite)--a-rm-erx- Ca0 {s) + CO, g

2CH30H (1) + 30; (g)————--2CO0, (g} + 4H,0 {I)




DATA SHEET

Question 9
. Substance S° (J/mol-K)
N;H(g) | 238.5
_=~E 130.58
NHg3lg) 1925 .
Alfs) 28.32
Chig} 222.96
AlICly(s) 109.3
ME{OHLIS) =T
HCl[g) 186.69
MiaCh(s) 89.6
H,0{1} 69.91
CH,lg) 186.3
C:Hq(g) 229.5
Halg) 130.58
Question 10 _

Substange Ak {kJ/mol) S° (3/mol-X) AG {kifmol)
Ni(s) 0 29.9 0
ﬁ_,uﬁ_ [ 22296 o

NiCi(s) -305.3 97.65 - -259.0
CaCO(s, caicite) -1207.1 92.68 -1128.76
Ca0ls) -635.5 39.75 -604.17
€0,(g) -393.5 213.6- -394.4
CHOH{1) .n.u.mw ‘ 126.8 -166.23
0;{g) 0 »a.w.c o
H,0(1) . -285.83 69.91 -237.13




